 BRI1Z Y8 AM

(133a—k, 140—Hh)

F— L4 1 2 3 4 R BR | RS | IE{SL
() TRF A 31 | 32 | 30| 30| 6 | 1
 |FRENE A | 1-3 32 | 30| 21| 5 | 2
3 |BAJ\BHRA| 2-3 | 2-3 3-0 | 1-2 4 3
s |FREHE C | 03 | 0-3 | 0-3 -3 | 3 | 4

TRF A itk 7 57 BARER) . BARUR) Lk, fiK(E)
FHIEA hiE™ AR TI.HF BIFE. KX BE

BA/\IEHA FIIRX AE D, AR, Hep, RE

FHIEC HhiE™ AR BEA.BE,/NNF.BL. NE
BFI1Z J—J8 B#f (153—k.16a—h)

F— L4 1 2 3 4 R BR | RS | IE{SL
()| mFESST 30 | 3-1 | * | 2=0 | 4 | 1
2| TRF B | 0-3 3-1 * 1-1 3 2
s | FREFIE B| 1-3 | 1-3 * | 02| 2 | 3
o ST | * * * * * *

wiEs>7 IR R BH./PME.BEEBX. EFER)EFEGE)
TRF B Ll [ ¥ MEr., &E., &R, ES

FHEB hE™ AR . #oc. G5, A, 518

s S E FEH =¥ ik, A&, EH. Gith
BFI1E RBFER—F X,

TRF A —_—

e — : TRF A
FEF A S 0

miEo>57 — 1




ZF25

=78 A#f

(93—, 103—HF)

F— L% 1 2 3 4 5 | BEER (ms | IES

QECE 0-3 | 30 | 32 | 30 | 40| 8 | 1
2 | FFE D| 0-3 30 | 30 | 1-3 | 22 | 6 | 3
s | REE F| 0-3 | 0-3 -3 | 0-3 | 0-4 | 4 | 5
s | RFEEHREB| 2-3 | 0-3 | 3-2 2-3 | 1-3 | 5 | 4
5| Fusion | 2-3 | 1-3 | 1-3 | 1-3 31| 7 | 2

H2iEE A o ah (M FTRVEE. FWOE FWL(E)

FAE D mEm [ KR =g, FE.MRCEE. KK

FAE F mEm [ KR B B, 5H.BR.ES.HE

MtEEHEB e |k Hk.EBE.8B.8F

Fusion KIEH  |FS A EFH. AR R

BF2E J—J% B#f (11a—k.12a—h)

F—L% 1 2 3 4 5 | BEBK s | B

()| BESR A 0-3 | 30| 32| 3231 7] 2
: | B{ES B| 3-0 30 | 30 | 3-1 | 40| 8 | 1
3| FREIEE | 0-3 | 0-3 -3 | 0-3 | 04| 4 | 5
s |aPERBEA| 2-3 | 0-3 | 3-2 31 | 22| 6 | 3
5 STC 2-3 | 1-3 | 1-3 | 1-3 1-3| 5 4

BEEX A tRoa™ (XA ANH. 515, B, &R, A8

HEE B et |EM At A, T, k. ERM.

FAEE LiElil N HRE. BA. W&, 2. HRK(B)HKGE)

MmELERSA fafEm  |AIS HIE. E&. Bk, /A

STC FNFERR  |[#7H FH.LO.EA.)IEE

BiEE
EEE A

Fusion

BEX B

*
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FF3H V=% A#

(13—k. 23—hF)

F— 1% 1 2 3 4 5 | BEER |Bsa| IEAL
FEHST 30 | 31 | 1-3 | 32 | 31| 7 | 2
R7—X | 0-3 2-3 | 0-3 | 32 |13| 5 | 4
F—LAtbeIB| 1-3 | 3-2 1-3 | 3-1 | 22| 6 | 3
BA/\IEHRB| 3-1 | 3-0 | 3-1 3-1 | 40| 8 1
Blacky. S| 2-3 | 2-3 | 1-3 | 1-8 -4 | 4 | 5
FEHST o am EK HE. FE. @E. FK
R7—X o a™ |BEER BEER. Nk, Pk, 5 H
F—LAGELIB  |REBTH 1L 7 Wiz, &) B2, BE., kX
BANIER B FINRX AlE MT.LRAK, LR, BEXR
Blacky. S 2R K& R#EF.EHAE, B, AR, BB

FF3E I)J—J8 B#f (33—, 43—})

F— L4 1 2 3 4 B |5 | B 4L
iR NG e 1-3 | 3-1 | 3-0 | 2-1 5 2
F—LABBEECA| 3-1 3-2 | 3-1 | 30| 6 1
ML Bl 1-3 | 2-3 32 | 12 | 4 | 3
Jya—> X | 0-3 | 1-3 | 2-3 0-3 | 3 4
FEARFSE  |[O<EH |© EE. . EE. L0
F—LAGBEEZA  |MBTH pEES| A, REHEIL EFRK
E2XL B o am |J\ER JI\ER (k. BE. 8. /DK
Ja—2 X NNl £=E FH.FED.£F
RANEB ——

FRAFIFE S
. 5 BA/\iE B
FEHST & —

F—LAEBE LA
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ZF Y-8

(53—Fk., 63—F)

F—L% 1 2 3 4 5 | BEBR (s | IEAL
Q- U5 p) 31| 3-1 | 30 | 30 | 40| 8 | 1
2 | @957 | 1-3 30 | 1-3 | 32 | 22| 6 | 3
3 SAM 1-3 | 0-3 0-3 | 1-3 | 0-4 | 4 5
s |\ BAJ\EH| 0-3 | 3-1 | 3-0 3-0 | 3-1 7 2
5 |F—Latibes| 0-3 | 2-3 | 3-1 | 1-3 1-3| 5 | 4
WRiEo57 TR IE R BHE. L. 5H.BE.EF
s> ENeE™h =L KA, SRE. LK. FM
SAM frahm K {Ei&. BiTE.E. HW
BA/\iE EIX IKFF AR, B, AE. TH
F— LG LD fmEh =H SH.AR.FI.EZE. . FH. E5
=={7))] A; (18a—k~203—h)
F—L% 1 2 3 4 | BSER (BB | AL
1] 8 =hA 3-0 | 3-0 | 3-0 | 3-0 6 1
2 |ElUPEHEB| 0-3 30 | 2-3 | 1-2 4 2
3 | g A —hD| 0-3 | 0-3 3-0 | 1-2 4 3
s |Gy AHC| 0-3 | 3-2 | 0-3 1-2 4 4
Hoya=hA #ram AR 8. E@R.. LA, 8F. FA., &EE. /DA
AP EERB =E:7] Nk FHE./NE /DL, BE, WO, #%F. FiR.
iz G gul==]p) #oam |BH E.FE., B, &, B HE
2 LK== #oam |IhE S, HLE. AR, EZWNK, FEE., FF, 2
HEDEEF B (213—k. 233—F)
F—L% 1 2 3 4 | BSER (BB | AL
(o8 3-0 | 30 [ 30 |30 | 6 | 1
2 |Gy APA|l 0-3 2-3 | 3-0 | 1-2 4 3
3| FRENE 0-3 | 3-2 3-0 | 2-1 5 2
s |G =—hB| 0-3 | 0-3 | 0-3 0-3 3 4




mEEp g A FHEBFH. & KBENGCE) . FENWR), #Z
HmyraREHA oy am |IhE FE.ALW EE, FIR. 2RI, 55
TS ™ =ik =k, R, M, AR, AL EA
HEyra_"_4B wmoath |5 a2/, FMh, AR, T, FEE, £ H
=={7))] C (243—k~263—FR)

F— L% 1 2 3 4 BB | RS | B
A LU 2R A 0-3 | 3-1 | 0-3 | 1-2 4 3
fEyAa"HhA| 3-0 3-2 | 0-3 | 2-1 5 2
Sy A=B| 1-3 | 2-3 0-3 | 0-3 3 4
HTHEAH5T| 3-0 | 3-0 | 3-0 3-0 6 1
ML ERA BHH ALl A, #Hlu, E&])IIGEHR. E/I(KR) . 1@, B ff
ey A wrath |5 BA. M. 5K, thE. A<M, EE. 120
A =%B #wgram |5 INR, B FE.BHPOBR.ER, K=
HIHEAY5T ¥ HE™ BA A GEA., SHF. Ld, I\ K

= D:; (26a—k~270—h)

F—L4 1 2 3 4 BSER | RH | B
B A /N\iEs 3-0 | 3-0 | 3-0 | 3-0 6 1
gy AR B| 0-3 3-0 | 3-1 | 2-1 5 2
$ra=thc| 0-3 | 0-3 3-1 | 1-2 4 3
giya—thc| 0-3 | 1-3 | 1-3 0-3 3 4
BA/\iEsh X AE A, 28], L& EREL,. AH
HyaAdB gy am |IhE EiE.hE L, L9 k. . 1l
Hyra=gc gy am |58 B, ik, B, k. EN. Fik. 25
£ L == oy am |5 BT, kI, AR, RIFAF ., 17K, H
A=A 1
PO . .

~ ¥ X W ALY b

HITEAI5T —

RBA/\ige




BEQH %F

(7a—k. 83—k, 90—hF)

F—L4E 1 2 3 4 5 6 | BSER (s | L

(1 VB A=A 3-2 | 3-0 | 30 | 3-1 | 3-0 |50 10 | 1
: | EHSE| 2-3 3-1 | 30 | 3-1 | 3-0 | 41| 9 2
3 |G AR 0-3 | 1-3 30 | 3-1 | 3-2 |3-2| 8 3
« |G AMMer| 0-3 | 0-3 | 0-3 0-3 | 0-3 |0-5| 5 6
s |$Era=hB| 1-3 | 1-3 | 1-3 | 3-0 3-1 | 2-3| 7 4
o @y =—f| 03 | 0-3 | 2-3 | 3-0 | 1-8 1-4| 6 5
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